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5 X 4 B | Timh o OEER jmxa;é R 4 TIwmMLDKE | F& jmxajé R 4 B | tmAhLoOLEE jw)xajé K 4 HiEhooks | & 7']0)7(%22‘
(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )

7 100kN/mM%#BZ % -~ -|3mEBZD -~ - 100kN/mM%#8% % - -~ -|3mEBZD ~ -

s 1.00 | 000 ~ 476 59.32 | #nS | 000 ~ 0.00| 1.77 8.94 st 1.00 | 6.00 ~ 5.00 59.32 | =hS | 5.00 ~ 5.00| 1.77 8.94
2 100kN/mM%#BZ 5 -~ -|3mEBZD -~ 100kN/m%#8% % -~ -|3mEBZD ~

s 1.00 | 0.00 ~ 684 86.49 | =hLs | 000 ~ 000 1.72 8.68 st 1.00 | 6.00 ~ 8.40 86.49 | =n4 | 5,00 ~ 840 1.72 8.68
3 100kN/mM%E#BZ 5 -~ -|3mEBZD ~ 100kN/mM#%#8% % ~ -|3mEBZD ~

s 1.00 | 000 ~ 735 95.79 | =S | 000 ~ 735\ 1.79 9.05 st 1.00 | 6.00 ~ 9.50 93.79 | =nS | 5.00 ~ 950 1.79 9.05
4 100kN/m##8%% | 1.00 | 000 ~ 156 123.76 |3m%EBZ% ~ 100kN/mM%&#z25 | 1.00 | 10.75 ~ 16.70| 12376 |3mZE#Bz5b ~

s 1.00 | 1.66 ~ 9.34 100.00 | =St | 000 ~ 9.34 | 2.27 11.47 st 1.00 | .00 ~ 1075 100.00 | =nhst | 6.00 ~ 1670 2.27 11.47
5 100kN/mi%E#2% | 1.00|0.00 ~ 0.90 11343 |3m%E#BZ 5 ~ 100kN/mM&#z25 | 1.00 | 1252 ~ 1566 11343 |3mZE#Bz5b ~

s 1.00 | 090 ~ 868 100.00 | =nhst | ooo ~ 868|274 13.856 st 1.00 | 6.00 ~ 1252 100.00 | =nhst | 6.00 ~ 1566 2.74 13.856
P 100kN/m##82% | 1.00)0.00 ~ 161 124.67 |3m%E#BZ5 ~ 100kN/mM&#z25 | 1.00 | 1054 ~ 16.00| 124.67 |3mZE#BZ5 ~

s 1.00 | 1.61 ~ 940 100.00 | #nlst | 0.00 ~ 9.40 | 2.40 1213 st 1.00 | 6.00 ~ 1054 100.00 | =nst | 6.00 ~ 1600| 2.40 1213
- 100kN/m%E#BZ25| 1.00| 000 ~ 1.32| 119.99 |3mEEZS ~ 100kN/mM%E#25 | 1.00 | 1072 ~ 1540| 119.99 |3m%E#Z5 ~

s 1.00 | 1.32 ~ 910 100.00 | #nlst | 0.00 ~ 9.10| 2.28 11.51 st 1.00 | 6.00 ~ 1072 100.00 | =hst | 6.00 ~ 1540| 2.28 11.51
P 100kN/mi#E#2% | 1.00 | 0.00 ~ 200 130.93 |3m%E#BZ 5 ~ 100kN/mM%E#25 | 1.00 | 1057 ~ 1790| 130.93 |3m%E#Z5 ~

s 1.00 | 200 ~ 9.79 100.00 | =nlst | 0.00 ~ 9.79 | 2.42 12.24 st 1.00 | 6.00 ~ 1057 100.00 | =nst | 6.00 ~ 1790 2.42 12.24
9 100kN/m%#8%% | 1.00 | 000 ~ 156 12382 |3m%xBZx% ~ 100kN/m&#z25 | 1.00 | 1053 ~ 1580 12382 |3mZ#Bz5d ~

s 1.00 | 1.56 ~ 9.35 100.00 | =4t | 0oo ~ 9.35| 238 12.04 st 1.00 | 6.00 ~ 1053 100.00 | =hst | 6.00 ~ 1580| 2.38 12.04
10 100kN/m##8%% | 1.00 | 000 ~ 1.12| 116.95 |3m%EBZ% ~ 100kN/mM%E#Z25 | 1.00 | 10563 ~ 1400| 116.95 |3mE#Z5 ~

s 1.00 | 112 ~ 891 100.00 | #nst | 0.00 ~ 891 | 220 11.10 st 1.00 | 6.00 ~ 1053 100.00 | =nst | 6.00 ~ 1400 2.20 11.10
11 100kN/m##8%% | 1.00 000 ~ 0.78| 111.59 |3m%E{BZ% ~ 100kN/mM%&#z25 | 1.00 | 10.78 ~ 1302| 111.59 |3mZE#BzZ5 ~

s 1.00 | 0.78 ~ 856 100.00 | #nst | 0.00 ~ 866 | 2.30 11.64 st 1.00 | 6.00 ~ 10.78 100.00 | =hst | 6.00 ~ 1302| 2.50 11.64
12 100kN/m# %% | 1.00 | 000 ~ 1.17| 117.65 |3m%EBZ% ~ 100kN/mM&#8z25 | 1.00 | 11.12 ~ 1482| 11765 |3mZE#Bz5 ~

s 1.00 | 1.17 ~ 895 100.00 | =St | 0.00 ~ 895\ 2.837 11.97 st 1.00 | .00 ~ 1112 100.00 | =nhst | 6.00 ~ 1482| 2.837 11.97
13 100kN/m%E#2%5 | 1.00|0.00 ~ 130 119.71 |3m%E#BZ 5 ~ 100kN/mM%&#z25 | 1.00 | 1059 ~ 1468| 119.71 |3mZE#BzZ5 ~

s 1.00 | 1.30 ~ 9.09 100.00 | =nst | 0oo ~ 9.09 | 224 11.34 st 1.00 | 6.00 ~ 1059 100.00 | =nst | .00 ~ 1468| 2.24 11.34
14 100kN/m%#8%% | 1.00 | 000 ~ 188 12889 |3m%E{Bzx% ~ 100kN/m%E#25 | 1.00 | 1088 ~ 1755| 12889 |3m&E#Z5 ~

s 1.00 | 1.88 ~ 9.66 100.00 | #nlst | 0.00 ~ 9.66 | 2.562 1276 st 1.00 | 6.00 ~ 1088 100.00 | =nst | .00 ~ 1755| 2.62 12.76
15 100kN/m%#8%% | 1.00 | 000 ~ 1.98| 13063 |3mEBZ% ~ 100kN/m%E#25 | 1.00 | 1076 ~ 1790| 130.53 |3m%E#Z5 ~

s 1.00 | 198 ~ 9.76 100.00 | #nst | 0.00 ~ 9.76 | 2.49 12.61 st 1.00 | 5.00 ~ 10.76 100.00 | #nllst | 6.00 ~ 1790\ 2.49 12.6‘]_
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5 X 4 B | Timh o DR jij%é R 4 TimALDKE | F me%é R 4 B | LmAhSDLEE jjd)kéfé K 4 timpoDlE | & jmjtéfé
(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
16 100kN/m%E#8z5 | 1.00 | 000 ~ 1.92| 12966 |3mEiBz% -~ - - -] 100kN/mZ#8z% | 1.00 | 1064 ~ 17.50| 129.66 |3mZE#B25 -~ -
s 1.00 | 192 ~ 9.71 100.00 | =nlst | 0.00 ~ 9.71 | 2.46 1242 st 1.00 | 6.00 ~ 1064 100.00 | =nLst | 6.00 ~ 1750 2.46 1242
17 100kN/m%E#8z5 | 1.00 | 000 ~ 1.96| 13027 |3mEiBz% -~ - - -] 100kN/ %8825 | 1.00 | 1064 ~ 17.70| 130.27 |3m%E#BZ% -~
s 1.00 | 1.96 ~ 9.75 100.00 | =nlst | 0.00 ~ 9.75 | 2.46 12,43 st 1.00 | 6.00 ~ 1064 100.00 | =nst | 6.00 ~ 17.70| 2.46 12,43
18 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 5.99 75.10 | =hS | 000 ~ 599 | 203 10.25 st 1.00 | 6.00 ~ 8.00 75.10 | TN | 5,00 ~ 800 2.03 10.25
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ ZFhLst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhest ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM#%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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